ILEEBGEE 442010 58

(20104 7 § 1 H=E 2010 4£ 8 H 31 H)

A B 2010878 1H 2000 4 H1H
= 20104 8 A 31 H Z 2010 4 8 A 31 H
(2010/2011 ££ /& BB BB
(A) [RATTHEE{E =R 115 112
(B) BB FHPFAEEDN 18 45
#H |
(C) [E#tHEARNEE 7 10
(D) [BEIER /M E H K 8 29
#H
(E) |&E 2010 ££ 8 A 31 118 118
B 7% 7 e 28 (3 2= R 3

B(W)332  NIRFHGHSE PERT R A(3)




Jb & B B R
2 AN E

(2010 £ 7 H 1 HH = 2010 £ 8 H 31 H)

B 20105 7H 1 H

F 20104 8 H 31 H

20104 4 H 1 H
% 20104 8 A 31 H
(2010/2011 £ & R B #E B0

(A) | Z i BT B & 20531 20352
(BE 20108£ 4 H 1 H)
B)  EEHFHAFMMEN 45 118
8 H
) | EREEENEE 42 97
(i) + (i)
(i) EEHALLD 22 54
MEZETBXH
fE Z W B H
(i) ([ EERBEXERN 20 43
L=
(D)  BMEEXHE®EA 20562 #
TRXRA+B-C0)
S # - BNEEETEYERET -

| - EEHEERERERK 784 - FABHIH 319 55 R IREE R 950
2 - EEHEERBEEER 778 5 ARG 313 SRR IERE R 944
3 - EXEHECERBEERME 776 5 AR 326

B(W)332 /AR R IR S &(2)DC

._[

J} “il}

S B R TR A




